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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, * 50 MeV/c?

= 20 50
o Bethe-Bloch dE/dx
Rd .
S ' “' 40
~
T 15
p-slice_1_7 particle: k_plus
RMS = 4.986 +0.035
‘2 - frac_bkg1 = 0.4467 +0.0053 049
s f frac_bkg2 = 0.5329 + 0.0064
10 O a0 ml = 7.602 +0.041
{ mi_bkgl = 2.4047 +0.0041
250 ; mi_bkg2 = 21.44 +0.19
sg= 0.63 +0.12
200 , sg_bkg1 = 0.34655 + 0.00091
5 sg_bkg2 = 3.90 +0.14
i f sl = 1.107 +0.047
100 sl_bkg1 = 0.1200 + 0.0029
) . sl_bkg2 = 3.41£0.18
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

= 20 50
o, Bethe-Bloch dE/dx |

S ' ) 40
L 15

p-slice_1_8 particle: k_plus
RMS = 5.026 +0.035
frac_bkg1 = 0.2276 + 0.0048 049

frac_bkg2 = 0.6938 + 0.0067
ml = 6.341 +0.029

mi_bkg1 = 2.3961 + 0.0054
mi_bkg2 = 17.822 + 0.057
sg = 0.660 +0.077

sg_bkg1 = 0.2817 £ 0.0054
sg_bkg2 = 2.271 +0.044
sl = 0.861 +0.033

\ sl_bkg1= 0.1200 + 0.0013

" sl_bkg2 = 3.35 +0.12
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1

dE/dx [a.u]
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Slices of 30 MeV/c

SELECTION of Kaons:
M,, * 50 MeV/c?
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Bethe-Bloch dE/dx

40

p-slice_1_9 particle: k_plus
RMS = 5.082 +0.032
frac_bkg1 = 0.1704 + 0.0052 046

frac_bkg2 = 0.680 = 0.014
ml = 5.531 +0.033
mi_bkg1 = 2.3470 + 0.0089
mi_bkg2 = 14.91 + 0.20

sg = 0.751 + 0.087
sg_bkg1l = 0.2726 + 0.0071
sg_bkg2 = 1.31 £0.18

sl = 0.656 +0.055

sl_bkg1 = 0.120 +0.035
sl_bkg2 = 3.06 +0.15
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, * 50 MeV/c?

50

[\
(@

Bethe-Bloch dE/dx
| 40

—
(&)}

dE/dx [a.u]

p-slice_1_10 particle: k_plus
RMS = 4.916 +0.030
frac_bkg1 = 0.1376 + 0.0039 042

] frac_bkg2 = 0.6506 + 0.0078
mil= 4.941 +0.019

mi_bkg1 = 2.281 +0.012
mi_bkg2 = 12.235 + 0.068
sg = 0.670 +0.049

sg_bkg1l = 0.275 £ 0.025
sg_bkg2 = 0.851 £ 0.042

sl = 0.526 +0.028

sl_bkg1 = 0.1199 + 0.0059
%' sl_bkg2= 2439 +0.020
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)
System 1

SELECTION of Kaons:
M,, * 50 MeV/c?

= 20 50
o Bethe-Bloch dE/dx
Sl .
X - .
o 40
L 15
o p-slice_1_11 particle: k_plus
RMS = 4.492 +0.026
‘2 A frac_bkg1 = 0.1014 +0.0033 037
3 300 * frac_bkg2 = 0.6843 + 0.0075
10 (&) ml = 45143 +0.0019
250 mi_bkg1 = 2.265 +0.013
ml_bkg2 = 10.54 +0.20
200 sg = 0.4843 +0.0022
sg_bkg1 = 0.2849 +0.0083
5 150 3 sg_bkg2 = 0.887 +0.037
sl = 0.561+0.014
100 I sl_bkg1 = 0.0816 + 0.0052
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

= 20 50
o Bethe-Bloch dE/dx
S ' . ‘ 40
~
L 15
p-slice_1_12 particle: k_plus
RMS = 4.036 +0.023
.2 350 frac_bkg1 = 0.0933 + 0.0030 033
2 frac_bkg2 = 0.6609 + 0.0098
10 Q© 300 I ml= 4.144 +0.018

mi_bkgl = 2.14 £ 0.14
mi_bkg2 = 9.13 £ 0.28

sg = 0.414 +0.090
s$g_bkg1 = 0.2911 + 0.0099
sg_bkg2 = 0.93 £ 0.20

sl = 0.497 £ 0.016

sl_bkg1 = 0.0800 + 0.0038
sl_bkg2 = 1.2714 + 00059
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

= 20 50
o, Bethe-Bloch dE/dx |

x -

2 40
L 15

p-slice_1_13 particle: k_plus
RMS = 3.666 +0.021
frac_bkg1 = 0.0808 + 0.0043 030

frac_bkg2 = 0.613 +0.014
ml = 3.839 +0.022
mi_bkg1 = 2.099 + 0.086
mi_bkg2 = 7.966 + 0.091
sg= 0.35 + 0.1

sg_bkg1 = 0.292 +0.011
sg_bkg2 = 1.171 £ 0.038
sl = 0.435 +0.024
sl_bkg1 = 0.0800 + 0.0076
sl_bkg2 = 0.9137 + 0.0061
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

= 20 50
o Bethe-Bloch dE/dx
x |
D 40
~
% 15
p-slice_1_14 particle: k_plus
RMS = 3.366 +0.019
.g 00 frac_bkg1 = 0.0848 + 0.0034 028
8 4 frac_bkg2 = 0.581 + 0.011
10 Q 350 ml= 3.616 +0.017
200 mi_bkg1 = 2.10 +0.14
mi_bkg2 = 7.307 + 0.064
250 sg= 0.28 +0.10
sg_bkg1 = 0.2898 + 0.0078
5 200 sg_bkg2 = 1.182 + 0.015
150 sl = 0.405 +0.014
sl_bkg1 = 0.080 + 0.027
100 f \ sl_bkg2 = 0.6626 + 0.0068
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

= 20 50
o Bethe-Bloch dE/dx
x |
k®) 40
~
L 15
o p-slice_1_15 particle: k_plus
RMS = 3.036 +0.017
8 frac_bkg1 = 0.1469 + 0.0048 024
€ 400
8 frac_bkg2 = 0.4467 + 0.0091
10 O 350 mi = 3.393 +0.016
mi_bkg1 = 2.056 +0.015
300 ml_bkg2 = 6.47 +0.19
sg_bkg1l = 0.2878 + 0.0043
5 200 sg_bkg2 = 1.1528 + 0.0070
150 sl = 0.335 +0.018
sl_bkg1 = 0.0830 + 0.0049
100 f L\ sl_bkg2 = 0.506 + 0.015
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

5 20
o Bethe-Bloch dE/dx
>< B
: )
o p-slice_1_16 particle: k_plus
450 RMS = 2.807 +0.015
.g frac_bkg1 = 0.1724 + 0.0043 021
3 400 frac_bkg2 = 0.3862 + 0.0074
10 O 45 ml = 3.25598 + 0.00043
mi_bkg1 = 2.029 +0.013
300 | mi_bkg2 = 6.061 + 0.033
250 {, ‘ sg = 0.2320 + 0.0039
i sg_bkg1 = 0.289 +0.022
5 200 [ ] sg_bkg2 = 1.1181 + 0.0046
180 ] \ sl = 0.31748 + 0.00025
\ sl_bkg1 = 0.0832 + 0.0038
|
100 1 sl_bkg2 = 0.387 +0.012
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

50
Bethe-Bloch dE/dx |
| 40

p-slice_1_17 particle: k_plus
RMS = 2.704 +0.014

Slices of 30 MeV/c

[\
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—
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dE/dx [a.u]

.g 450! frac_bkg1 = 0.184965 + 0.000020 g0
3 400 } frac_bkg2 = 0.2951524 + 0.0000077
1 0 (&) mi=3 %13
350 mi_bkg1 = 2.00415756476 + 0.00000000057
300 mi_bkg2 = 5.58929372 + 0.00000063
sg = 0.242494 + 0.000025
250 sg_bkg1 = 0.2881211607 + 0.0000000030
5 200 sg_bkg2 = 1.068117066 + 0.000000019

= 0.24907683 + 0.00000025
sl_bkg1 = 0.0833934568 + 0.0000000022
sl_bkg2 = 0.3613361 + 0.0000016
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)
System 1

Slices of 30 MeV/c

SELECTION of Kaons:
M,, 50 MeV/c

T =
S,
>
kS
L
w15
.g.:oo
8350
10 [®)
300
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5 200
150
100
0 ) 50
0 500 A

50
Bethe-Bloch dE/dx |
| 40

p-slice_1_18 particle: k_plus
RMS = 2.514 +0.014
frac_bkg1 = 0.1777 + 0.0063 020

frac_bkg2 = 0.273 + 0.016
ml= 2.954 +0.024

mi_bkg1 = 2.02026 + 0.00085
mi_bkg2 = 5.265 + 0.039
sg= 0.312 + 0.031

sg_bkg1 = 0.2881 + 0.0014
sg_bkg2 = 0.9956 + 0.0028
sl = 0.211 £ 0.022

sl_bkg1 = 0.08339 + 0.00036
sl_bkg2 = 0.328 +0.011
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

= 20 50
o Bethe-Bloch dE/dx
R .
S " ‘ 40
~
T 15
p-slice_1_19 particle: k_plus
RMS = 2.225 +0.013
.g frac_bkg1 = 0.1660 + 0.0048 019
8 350 frac_bkg2 = 0.2655 + 0.0077
10 O 400 ml = 2.8844 +0.0029
mi_bkg1 = 2.0476 + 0.0046
250 mi_bkg2 = 4.991 + 0.021
sg = 0.3125 £ 0.0037
200 sg_bkg1 = 0.2961 + 0.0056
5 sg_bkg2 = 0.9466 + 0.0020
150 sl= 0.211 + 0.043
- sl_bkg1 = 0.0835 + 0.0014
( sl_bkg2 = 0.2615 + 0.0081
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c

= 20 i 50
o 0 Bethe-Bloch dE/dx
pad .
D 40
T 15
p-slice_1_20 particle: k_plus
RMS = 2.120 +0.013
.g frac_bkg1 = 0.1537 + 0.0065 019
3 350 frac_bkg2 = 0.2328 + 0.0093
10 (&) ml= 2,761 +0.014
300 mi_bkg1 = 2.0337 + 0.0054
250 ml_bkg2 = 4.697 + 0.027
sg = 0.3125 £ 0.0074
200 sg_bkg1 = 0.2831 + 0.0063
5 sg_bkg2 = 0.8950 + 0.0026
150 | ,J sl = 0.142 £ 0.012
= 100 || $ sl_bkg1 = 0.0852 + 0.0021
. i ! i s st AR R S [\ V" sl_bkg2 = 0.2410 + 0.0087
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

50
Bethe-Bloch dE/dx |
| 40

p-slice_1_21 particle: k_plus
RMS = 1.983 +0.013

Slices of 30 MeV/c

[\
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—
(&)}

dE/dx [a.u]

.g 300 frac_bkg1 = 0.1399 +0.0058 019
2 frac_bkg2 = 0.2298 + 0.0084
10 S ml = 2.6910 + 0.0090
250 ml_bkg1 = 2.02686 + 0.00069
mi_bkg2 = 4.491 £ 0.018
200 sg = 0.3125 + 0.0035
sg_bkg1 = 0.1583 £ 0.0024
5 150 sg_bkg2 = 0.8250 +0.0023
sl = 0.142 +0.043
100

sl_bkg1 = 0.11826 + 0.00042
sl_bkg2 = 0.2186 + 0.0073
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1

dE/dx [a.u]
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—
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Slices of 30 MeV/c

SELECTION of Kaons:
M,, 50 MeV/c

i
Yo

500

Bethe-Bloch dE/dx

50

40

p-slice_1_22 particle: k_plus

RMS = 1.885 +0.013
frac_bkg1 = 0.1384 + 0.0071 019

frac_bkg2 = 0.223 +0.012
ml= 2541 +0.012

mi_bkg1 = 2.03371 + 0.00087
mi_bkg2 = 4.298 + 0.033
sg= 0.312 +0.016

sg_bkg1 = 0.144 +0.027
sg_bkg2 = 0.7699 + 0.0025
sl = 0.142 +0.013

sl_bkg1 = 0.12268 + 0.00057
sl_bkg2 = 0.2069 + 0.0093
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c

'5' 20 I“-." o 50
o 0 Bethe-Bloch dE/dx
> .
L, 40
L 15
© p-slice_1_23 particle: k_plus
RMS = 1.805 +0.014
.g frac_bkg1 = 0.053 + 0.069 019
3 250 frac_bkg2 = 0.264 +0.090
10 8 ml= 2,391 +0.012
200 mi_bkg1 = 2.05 £ 0.10
: ml_bkg2 = 4.0994 + 0.0064
}‘ sg = 0.244 +0.039
1501 | | sg_bkg1 = 0.157 +0.039
5 A } sg_bkg2 = 0.71991 + 0.00042
100 ‘ 3 sl = 0.142 + 0.066
. sl_bkg1 = 0.129 + 0.039
iy ek L T SN s “ & sI_bkg2 = 0.1947 +0.0074
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

50
Bethe-Bloch dE/dx |
| 40

p-slice_1_24 particle: k_plus
RMS = 1.835 +0.015

[\
(@

—
(&)}

dE/dx [a.u]

2 frac_bkg1 = 0.0147 +0.0087 021
5 250 frac_bkg2 = 0.279 +0.011
10 8 ml= 2.3214 +0.0028
200 mi_bkg1 = 2.057 + 0.080
mi_bkg2 = 3.952 +0.012
sg = 0.2438 = 0.0032
150

sg_bkg1 = 0.1626 + 0.0073
sg_bkg2 = 0.6787 +0.0016
100 ‘ "r’ sl = 0.1423 + 0.0033

. ¢ sl_bkg1 = 0.1778 + 0.0067
\ % sl_bkg2 = 0.1857 + 0.0057
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c

= 20 e 50
o, EE Bethe-Bloch dE/dx |

x -

2 40
L 15

p-slice_1_25 particle: k_plus
RMS = 1.651 +0.014

(2 .
E Irac_bkg1 = 0.017 £ 0.011 020
2 % frac_bkg2 = 0.243 + 0.015
O 250
10 O ml = 2.2514 +0.0074
mi_bkg1 = 2.065 + 0.080
200 ml_bkg2 = 3.739 +0.014
sg = 0.2438 + 0.0057
150 | sg_bkg1 = 0.1934 + 0.0081
5 t sg_bkg2 = 0.6431 +0.0022
100 t sl = 0.142 +0.043
| ‘ sl_bkg1 = 0.1823 + 0.0082
O 0 T A S R Rl - - t‘ sl_bkg2 = 0.1824 +0.0072
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

= 20 50
o, Bethe-Bloch dE/dx |

x -

2 40
L 15

p-slice_1_26 particle: k_plus
RMS = 1.562 +0.014
frac_bkg1 = 0.001 + 0.026 020

frac_bkg2 = 0.217 £ 0.013
ml = 2.181 + 0.056
mi_bkgl = 1.97 £ 0.13
mi_bkg2 = 3.621 + 0.024
sg = 0.244 +0.045
sg_bkgl = 0.172 + 0.037
sg_bkg2 = 0.6123 +0.0034
sl= 0.104 +0.013

sl_bkg1 = 0.157 +0.033
sl_bkg2 = 0.1715 + 0.0066
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

20
Bethe-Bloch dE/dx

p-slice_1_27 particle: k_plus
v RMS = 1.569 +0.016
8 220 frac_bkg1 = 0.00000 +0.00016  gop

c
3 200 frac_bkg2 = 0.290 = 0.019
O 180 ml = 2.221 + 0.034
180 mi_bkg1 = 0.0
mi_bkg2 = 3.603 + 0.017
140 sg = 0.164 + 0.087
120 sg_bkg1 = 0.30 £ 0.28 L,
100 sg_bkg2 = 0.5668 + 0.0029
80 sl = 0.185 +0.018 g
60 sl_bkg1 = 0.29 +0.41 i L N .‘E!.'.l-'.

[her s =

sl_bkg2 = 0.1626 + 0.0080
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 1 SELECTION of Kaons:

M,, 50 MeV/c

= 20 50
o Bethe-Bloch dE/dx -
>< B
2 40
p-slice_1_28 particle: k_plus
RMS = 1.469 + 0.015 ; e
- frac_bkg1 = 0.00012 +0.00031 oo UYL NEENEENE : —30
= frac_bkg2 = 0.303 +0.012 : :
8 ml= 2.219 +0.041 P
ml_bkg1 = 0.0
mi_bkg2 = 3.549 + 0.020 — 20
sg= 0.164 + 0.026
sg_bkg1 = 0.81 £0.70 Ft
sg_bkg2 = 0.5421 + 0.0030 i
sl= 0.19 £ 0.13 3. 10
sl_bkg1 = 0.07 +0.14 : TR M
sl_bkg2 = 0.1433 + 0.0080 oo S o o
2324 25 26 27 28,29 30 313233 34 3536 37 38 3940 41 . 0
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GIBUU: SYSTEM 1




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 1
Y M,, * 50 MeV/c?
= 20
o Bethe-Bloch dE/dx
.é .
S —1100
% 15
10
—50
5
; -Egdr&1"i2-1.'34'1'5161'71“90-21 :': 32‘«:'séé é’z 30 31 32,33 34'35 36 37 38 3;;;3'4: ' I
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, * 50 MeV/c?

025

5 20
pr - Bethe-Bloch dE/dx
R
» | .
o |
L 15—
B p-slice_1_7 particle: k_plus
— 000 RMS = 3.705 + 0.017
- ‘2 frac_bkg1 = 0.6345 + 0.0040
— s ek 3 800 frac_bkg2 = 0.3721  0.0043
10— © 100 1 ml = 6.353 +0.037
— 1 mi_bkg1 = 2.1688 + 0.0051
o TR 600 % . mi_bkg2 = 16.92 + 0.27
— o0 500 | sg = 0.9894 +0.0022
— i SENURADSRERE S i P 1 sg_bkg1 = 0.43989 + 0.00054
5— i 400 sg_bkg2 = 5.15 + 0.18
B & 500 f sl = 0.79152 + 0.00084
— w o (T l sl_bkg1 = 0.1753 + 0.0012
B NCHIERR [ - T DN s 200 | sl_bkg2 = 3.27 0.12
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c

N
o
i

=) NN
3 B S Bethe-Bloch dE/dx
— . |
-é |
~
© — p-slice_1_8 particle: k_plus
— RMS = 3.106 + 0.018
- .2 frac_bkg1 = 0.0725 + 0.0030 026
B 5 300 . frac_bkg2 = 1.00000 + 0.00035
10— 3 ml = 5.639 +0.020
— 250 mi_bkg1 = 2.251 + 0.010
— mi_bkg2 = 13.924 + 0.025
— 200 sg = 0.471+0.078
— sg_bkg1 = 0.4897 + 0.0071
5— 150 sg_bkg2 = 2.35 +0.15
— sl = 0.945 +0.021
— 100 sl_bkg1 = 0.1631 + 0.0036
B PR | = T o AL ' sl_bkg2= 2.78 +0.19
O_ | 5 |6 " 9I 101112|13 141516’17"18 1’?’20'212 50 }'
0 500
% “10 15
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
System 0

SELECTION of Kaons:
M,, 50 MeV/c

= 20
< Bethe-Bloch dE/dx
% |
© p-slice_1_9 particle: k_plus
2 as0] ml = 4.929 +0.015
5 o sg = 0.901 +0.022
10 8 sl = 0.504 +0.011
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 T T
RN e Bethe-Bloch dE/dx |
> — .
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p-slice_1_10 particle: k_plus

ml = 4.405 +0.013
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
'5' 20 e L T
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p-slice_1_11 particle: k_plus
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 T
o TR Bethe-Bloch dE/dx
< |
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© p-slice_1_12 particle: k_plus
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600
500
5 400
300
200
O 100

0 500

0 5 10 15 20 25
dEdX [a.u]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0 M,, 50 MeV/c
Slices of 30 MeV/c
=) 20 PR T
o B Bethe-Bloch dE/dx
© p-slice_1_13 particle: k_plus
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0 M,, 50 MeV/c
Slices of 30 MeV/c
=) 20 PR T
o B Bethe-Bloch dE/dx
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© p-slice_1_14 particle: k_plus
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System O
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 T
E SRR Bethe-Bloch dE/dx
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© p-slice_1_15 particle: k_plus
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
y M, 50 MeV/c
Slices of 30 MeV/c
-} ot !
5 C Bethe-Bloch dE/dx
L .
| 15— 100
© — p-slice_1_16 particle: k_plus
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
y M, * 50 MeV/c
Slices of 30 MeV/c
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
'5' 20 : ':?Eg-.;'.ln\',f A
5 R Bethe-Bloch dE/dx
5 T T
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
'5' 20 : ':?Eg-.;'.ln\',f R
o R Bethe-Bloch dE/dx |
> — .
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p-slice_1_19 particle: k_plus

ml= 2,659 £ 0.016
sg = 0.5316 = 0.0016

sl = 0.1653 + 0.0041
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
'5' 20 : ':?Eg-.;'.ln\',f A
5 R Bethe-Bloch dE/dx
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
'5' 20 : ':?Eg-.;'.ln\',f A
5 R Bethe-Bloch dE/dx
5 T T
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
'5' 20 : ':?Eg-.;'.ln\',f R
5 R Bethe-Bloch dE/dx
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© B p-slice_1_22 particle: k_plus
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
y My, £ 50 MeV/c
Slices of 30 MeV/c
'5' 20 : ':?Eg-.;'.ln\',f R
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p-slice_1_23 particle: k_plus
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c
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p-slice_1_24 particle: k_plus
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System O
Y M,, 50 MeV/c
Slices of 30 MeV/c
'5' 20 : ':?Eg-.;'.ln\',f R
© T Bethe-Bloch dE/dx
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
'5' 20 : ':?Eg-.;'.ln\',f A
5 R Bethe-Bloch dE/dx
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

SELECTION of Kaons:

emO0

oyst M,, 50 MeV/c
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p-slice_1_27 particle: k_plus
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

SELECTION of Kaons:

emO0

oyst M,, 50 MeV/c
= 20
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p-slice_1_28 particle: k_plus
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